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SIS RY TeTus (i) a1 yeren Fgadtard) mied gfRre

SHEA IR TEAeT Aiq-ared aiter=ar fafaeg 5= quefie snfvr sefea ardaasma ggar=ar gaar a1 qRasa srad. e Jamr
FIOATA AT S@lal FgUA SHEATH AT IR A1 FTLTAT FI0ITH AT ST e,

FTAT ZYTTAATIHT SAF-ATET AT TS TAETT=AT TgIATHT TATIAT STHAT.

T&=AT yyTaei Wy
3?5 Uy A9 Uy T Srf;ﬁ HTEAH THd ds
1 TS WTUT A7 SR 25 50 I
2 ; s 25 50 ;
ST 9T STHTIT EVE 100 Ff
3 AT 25 50
4 | sfgwarh 25 50 i
TRl 100 200 100 fafre

U@ faward far 400% 01 a0 smazae irg., aUTi, THOT UM S8 45% S0 TS 3TE.

THEATST 100 Feei=T saedt oy, TOaT IR THET T Srer: 160 A e aRe samaey 9ig g7 (logging in), YT et
I, FIAAT 07 T, T ARTOT-AT FTATae = TET aHEe ag. et 100 ffe=ar wremadfia afarft St smeEdide w1 ey

TFATA. HE WAAT AETATT AT, TATAEAT T I, T UFF 9% 397 99, SHGAR Hailud e Il fHas
FRIGATH 37 ST SAGIRT dTed AT GG/ 3P YIHaTaR HISH-[FId’ HaardT 318, SHGIRM faas Haar waig
JBHYl SRIIET ASA MO W IAGARTY T U™ IR WM A FI5edl. SHGIRTM SRifIden gatear ITREId! &8
9. TYTRY. IAGARIT FeaT faam sl &Y @it e d1gd SwR Ul Tr31a.

FUAT i 3 T DI 91 PRIPd A UYT PR § $d5 IGERUINGRA 3Tgd ATV AdAHIa=IS AATgId. Ueael wdiard geeren
griet ®1E fhar ad yeRE Afe vy yasdha uy sewdia, Ream a1 Seml Tyg Fuder sav yeRiaE vy
3Tedid.

THATITET FTgl TF Grefl fae e,

TG 94

HRTST HTHT 3{TfOT SUTHIUT

Y.1-2. TR T TATT ATFITH AT ART TS AT, SATHLOT=AT, TR Ta=a7 ThaT ATe=a1 g8 a1 T ST, FHIvedT AT &Y
AT T LG AT AHNTET FHH 3L FgUA AT, a1 31T / o= seeas 3w “(5)” =m.

U.1. SASHEYA TeHAAT / HEATISTAT AT Fgurdrd / o Rgemerd seaerear S foaa<i=r /
o @ @)
FIATIS FEOATT e

“4) ®)

U.2. HTT RO / 1T STl 9127 afai=t aaeft / Wt STier=e;, &1 / SATAT ore. sty
M @ 3 ©) ®)



U.3-4.

U.3.

U.4.

Q.1.

Q.2-3.

Q.2.

Q3.

Q.4.

Q.5-6.

Q.5.

Q.6.

U.1.

U.2.

U.3.

U.4.

U.5.

e FTel AeTAYE faer Ared. AT ATt ST U 97 faeredr wa i HasT.

AT TAA:AT H9 R FHLOTT.

(1) T (2) FATAAET (3) FEd=toT (4) TFETRTT (5) T@TEATHT

FTUTART HTH e STRITTT.

(1) sg=T (2) g9 (3) 7=mE (4) BTt (5) STkt
SIS UTHT STfOT HTHROT

Read the sentence to find out whether there is any grammatical or idiomatic error in it. The error, if any, will be
in one part of the sentence. That part is the answer. If there is no error, the answer is ‘No error’. (Ignore the
errors of punctuation, if any).

The regaining of freedom / as we well know has given rise for / many dormant issues /

(1) () (©)

and conflicts in our society. No error
(4) (5)

Directions : In each of the following questions, select from amongst the five alternatives, the word most
opposite in meaning of the word given in capitals.

LIVELY

(1) simple (2) weak (3) dull (4) angry (5) moron
INADVERTENT

(1) adequate (2) available (3) sluggish (4) negligent (5) intentional

Pick out from the words given below this sentence the word which would complete the sentence correctly and
meaningfully.

He wants me to look his garden during his absence.
(1) at (2) over (3) after (4) into (5) from

Direction : In each of the following questions, select from amongst the five alternatives, the word nearest in
meaning to the word given in capitals.

LETHAL (1) light (2) dangerous (3) deadly
(4) cruel (5) thoughtless
CENTENARY (1) aguard (2) a hundred years (3) avery old man
(4) a hundred runs (5) a hundredth anniversary
HTHT AT

FIoregT 29T foRehe - A= 2007 iswar ?

(1) =faror srivearr (2) =freer (3) TwE (4) Iferee (5) festea w=tat sfa=e
HETRTETT @t Gt Tt dieh Srder ST Arar ?

(1) sard 2) T 3) Tz (4) T (5) daTY

ETTETA @A AdehT ST STg¥Td HHeT 9idl ?

(1) T (2) TaTRrE (3) Afer® (4) T (5) FreETT

g Jonfaeas=ar TerEaey Grefterdsht Horear AT e 'STIeT ATgDi-T S0’ (Know Your Customer) TisTa=t
q&EATT Tl ?

OERPEEIER OENIEIR (3) ATETE (4) = (5) feeer gt =fds
GTATATHT FHITAT TSITHT HHRYT FERTET=AT HAReT ARE 18T ?

(1) BT (2) FAlew (3) srer Ter (4) T (5) A
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Sifge Tr=oh

qTATAT, ATSATSY ST Hae 3y T Hae G AT @reAreraent wermseft arg ?
(1) ==t () 7 B T (4) ¥ (5) @i

GTeATerehT HIoTeaT TaT=ar T awiaiid eri=ar AT ahT=T avuit Tt g AT afiegd gred ?
(1) == (2) s (3) st (4) FrT (5) fereqor
TATAT THT TG AT AT STARSA FTAAT AT STATRSA SASTAT 31T, AT TR TR fheft qeA sga?

o o

(1) 26 (2) 25 (3) 27 (4) At g I 9y (5) e g o=

eI SUST FUTATTETAT F@el Hed THTEEAT=AT (?) AR faerear st Furferare it T 12 32 ?

AB BC CD DE ? FG

(1) DF (2) DG (3) FE (4) EF (5) GF

AT b TRATIT ‘A + B’ =T 372 ‘B =T 3T A 318’ 31T 31T offor ‘A — B’ =T 372 ‘B = 9271 A slTgd’ 3797 2.
ATt HITAT 312 ‘R =T TS P 3A1g’ 747 graet ?

1 P-Q+R 2 Q-R+P B)YP+Q-R 4 Q+R-P (5) Terear =R s

3HT.aTS T WeEueEad dusiia:
TEEAT SAT-ATET TEUTS= ETERTEY el STEeT.
AT ST, Sifaeh AT ATTor At 9TOT & SATHRTOT AT THTEeAT GRS AT Ao, SIS WTHT 9 TRt STadit sl AT

YTy e faeft ST

T WA agTATT A, AT UlA I 39w v aF Iav e, gdendfar waife sfua swh fAas
FRIGUT 3RH W Wi 3R/ e aedd o iR ueY-fdae sRau org. A dar T vl
BBPHYL SRIfAAT ATgA AT T YT SR WU T W15, THTRT THTT SN Sifdd qeaieand! dgr
WWWW@W‘Save&Next’WﬁﬁT‘Mark for Review&Next’ﬂmWWﬁﬁm.

AT Hed TSATD ATAAA Mg AT TH=AT T TATAT FZ=AT IAAT FHIT-ATATA SHALNT A6 AT STHT THEAT T07 FL0ATETST
e TfRAT 9 29T, SegT T eI a9 @ HUd dogT TLAT AT 98 gredl. Traldl Fad:gd Tt Suauar=l f#ar
JTTAATHT ATTLTHAT ATRY.

TRET=AT ISTSAT AT Question FE FTEE STV STEA I @TeMA GohT U Freg ATIe el AT [Eoqet arae
1 & 3o £ RATTEE green A

é T T WA 3R g¥ad A,

L TFE E TRAT™ 3o gdfae ame.

o TFE T AT Feal Gfeiel AEY, W €47 RATHT ISATSUIAIST T Fell 3T,

O o = e s R o, Wy ST @R e e e

TEATBIATST G FearHr Rt M gre T 3 it T ST I TRRT TEvATH STa g, T TSATSUIETST Gl FeredT AT
I T ¥t a¥ Sifaw Yegiaaraey O I Rd g SArEa.

I TTITETST T TAaeT==T a8 A9 Grefieriehl U F% 9ThdT ;
(@) I AT FHTHTSAT THATHS ATUATATST TSATSAT ST RS Il T JTIIHHET AT FHIRT=AT TATA FFersh 7.
AT AT TUE =T 1 27 T3 s o= =Te] Tl asifaerer 3 qeier & st ATgl.
(b) =T FATH ST IIEq FL0ATATST ‘Save and Next' a¥ faash 21 <for T T&=aT TS 1.
(c) =T T ITAT LIAT F&a TSATGUTETST GT F0ATHTST ‘Mark for Review and Next' 3% e 31 FHTH T&=aT TS .
THA 3T A= aTETe fAdeaT T3t Feaiidl UH 1= Jeqra7 & #7.

THH IAL TIATATHTS FH-AT AATEAT THTT FeATa sk FT.
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TH= I qIIErd FXOATETS TeaTe ‘Save and Next' 7% e BTG w14

Feaeerer 3% T8 FvAETET A Masae T waiamE g 9+ #7747 ‘Clear Response’ s2ATaY faersh &

TETRT TATa TSdATUHTST GO FLraar=1 daeard ‘Mark for Review & Next’ ¥ {3 F¥T. “SI¥ TSdTesviETET QT Feredr TT=
I AT S8 T T IAL ATAH FoATheTHET TTET 83l 1.’

TETET T ST GEUaTHTST T 91 77 =T, amae 74 9% waamax & F:=37 arfor 9% ‘Save and Next’ seAm=< ot
T

IR RiTeHaR RFEA Fad vy fFar ysaresiard! Gur Fad vyd dae gaieaare! far dad srdta.

T weAatEafe T § qedr=ar (screen) av=AT gfg@a7 (bar) 3ES Sed. TETAT AT w1 AT framear araraw s
T TTEAT AT, TFT ST (SR qTEd SETd q7 S 9T Srea.

TETET A Ed e AW wATETet ‘Save and Next’ SEdTaT [ Hed Ty ST ST Je=aT A R=ar afgedt Tmhs S,
TETET AR =T Rt arguaTETdt S Are| FET (mouse cursor) T [ RIT=AT ATaTa 33 9T,

et 100 fAei=ar Femaeia aiardT St a1 e a9,

TLATHTAT "TEAT TTHRTAT GAATH HIHS TgaH qTeA FLOATHT AT g, S T@rar grarei gae=/Maa= aea Sq 999, a8
T ALATUT=T/AATHTIOER ATTT=AT S RERTI=T YR Tt SITEer srfor eret aeareft agravarierse siaeear sremafardt adeir
JHIITH AYTA ST \Fllgvl.

FAS TEAT TTEH EOATTAT TLATHT TEET TTHRAT A T=aT ot FHhar w7 fEoe=ms orsdma. T&er e ATea=ay Forerar o= e
T STV TR,

THE=T 100 [T Fuearay TheATiAT THET o "Qieaar I At e s SaaEt T=drenit At I ATet. S e
ST 'submit' e fFere Fior T TR A=A/ A=A ST EIT0I SOITetT STy Jeierd (save) FI.

PUAT AT E1-

(1) "G gl I TueaREm wdardfar tuwR sifawa: gaffe (finally submit) F% f&d SR ATEY.

(2) THST T URYH el @t Fivrarg! uRfRuda wiemaia #1918 &t St key ffae ww@ar A&, sRu
TS T 98 g

TAATHATT AT

FIIT AT g9tfaerer fami, Rt 3w arfor ademesre = a=r 7=t {ie @ =,

TFel dAtaTe adier=ar samEr=T A% Feeamardt v fGaw sriee adar et e, Srorwe gire=ar fRast g [ (& w=maw
FTIAAT) ABAT T4, TFTA. I JOT-ATAT Sarer AT,

AT THIHAH FREWTE Freveaere TA9TT= TreTaT TEET ST AT Arg. (THrTara Tadr qi= hial SErar ST Fal Jaere
T ATE)

TEAT FATAT TRETAT TEET TATEF AT HE TR IdTIorae T8 JT=aT AT FEHTqor qred FaaT= e, A= Ieaad el
AT TFETAT ST IV TS AT TEEATEATT HIGH ST0ATH AIRrael ST,

TR (TS AT TEAeg), TEad, agn Gar frfud #wnre, aewm @A giedeeg/farn) e saw froradr seeettag =
(STHL) ATAT ATIT TEEAT FATALNT F FAT ST AT,

FIAT AT HIEAT TATAH BT Freheaerel THrT= A0 TeAT T8 S Jgeras HgRATora Yoo e Iel Blel AS@a= AT,
AEET TATAT FHOT AT (AT A=A 87 o ST fGorer o) el Mo = reaia qmanst dqka JerEaam g4,
Frargar ST 9igeT SHa qiRe/aea/Haw ara aaerer se A gl T S@e SATEl. ST ATad TATE AT wer-uteT
T AT FTETET F0F 8 a7 F9T SHEARTH THEH a9 [2er S0 18T, PUAT AT &l - I BTS SATT Frg-rarad
Rre1e warT ar uRRaardt 3y siewiar [Rar BHE WERA AR ATE). S IHEAT Aot AT a8 FeT 9960,
AT IHIATAT TSI ATALHAT/ AT, THTOTTS/STTII 916 el avd A T|T TIEd T STt auaTd I,
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Tt o ST ITLT=AT AT TAY AT AT ST (g &ef ITee. TS STaedl FoedT Ao IR ST
STHET ATATIRA HeATAT T TFel TTH Felel 07 I THATAT [HoFT AT AT SHIAT T8 oAl S . Hoier airareff s
AT FLATET, g AT AT TqmET, HFar a7 oo dEduE FaET desar a8 A=A/ AT A=t aureefy #eft
STTOITY ATET. HETAIATICrT ST qaret foeg 7 ff Frars wia.

T T AT UF qid Tee U A0TE. Fgf FH FLOATATS FIE [IAA FATAA. Tral Tad:H1ad UF &2 36 TS AT M. UF FRE
T (X ST SATaT Trel g 19 F& AT ohar 37 Masvard Iear UHaT Tearevil FIraar=aT Si= FH1F forg ashar. T8eT
HIEATAY g FIH FAod FIE TIATATEAE TAIAFTHS ZEATANT FTATd.

THA=AT ALY FTel AT TVATHT SFAAT TUId: ATRITITT AT AT, SATAT TR =r=eit feqemay snfiy/fHar e aaw
FLOATAL 213, ATHAT. AT TEAT STAT AT ETOATAT TO: IS HAT T2, SATHET IHEIATIAT THT STRIgA §H-IT TR geAtavr et
Tiew fada g qEa ey, [T Ter "o AT arad=r [t gr ader Sor-ar geE/AserET Mo G aEmd. S Ieer
THATTET FTUTATST STAT F% TRV AT, g7 (e STereaT Thae SHEAT ST gevaTd JaTE q8e fohar 93em ThRad SHT Svgme 991
TH ST IHIATCAT TR AL FYOTTT TTB0ATT T2

T TR AT ATIEe=T HIVATEr =T [T, T fFaT TRiwer S F207, YHTd w207, gt Faior F#7u, giafie 3o, SHT
0 fehar yemer ey ST e At e damme fFe s e g S T adesar arnRii= awreehiT arervia
Fra<efi FTaTEr FLOATT I

AT FHEOITSAT RTOTATET TTRATer FwroreaTer e, Tfereff grr @t argdr 3oy/fFar strsar faws Seea seamErEdi,
aferefTer w=dT TERaTer sy =i et Sreer sy AiasaTd AgmvRaTiersh=aT RIcaTar THRIHeET qRT SuAT=T q¥arsi it S
ATEL. ST T AT AT AT Trnamey et s ey 918l wiq Fa% Feft TATq edms ATar THnd=ar TeedT ARTarEa= 9T
ERELRICIDEEH

qfee aTa feredT AT sae daeh=ar =T Flosiyas arr.




AT Sy Fa et g

SHEATE TLAT FETaE T TATT FRerear I Suterd e g, 39T oo SHgarre wdias a9 faer ST are.

IHEATE AT AHATE T A HHIF TUHEAT HaT=AT q1gT IS AT AT, T IHIGATH THAT FTAL TAT FL ABT ATHS T
iR foeft s

Qﬂaﬂ '#;S‘QIOI( SHIATOH AT AT HTHTA
P& HETaR SUGARTT $Hae SIAd @Idid ATIUATH WA 3 8d:
3. D
9. Wad §s Hierger (50 fiet)
P. TP A U 30T WU & US (A1 YT 1)
5. Ten G SRR (WA UF THT 1D HTS ! Ud HSAd YA U, Tl TUNHUIRITS! & 1D HTS)
3. AGHIP (IT1Sd) TTURUN-GT SUGARIATS! - ARG IT fAfgddr 9 swaIeR Sl Bhigd By
TY&IT HETEAT 3T 3 HIUIAE! ATHT AT WRarri 3.

IHEAT AT Foela! ATLA/ATHIT TACHT AT 3 7.

SHEATOHT 9+ SHEATUE ST qTaToreh ¥ T T4 AL,

AT AT FFTT FRAAAT FAATTHE THT IH 214,
SHEATY ST A@A =T GIATHT ATH AT A T AGATHTAT G&T a3 HTEF ATOTET TN

TLAT HIATAT IHATAT TEEAT TIBTANA FETF FIET FeAedT FAATHTL T 7 FIAT A EITAT RTaTg TSI AL,

STYUT JHTST!



